SHAZAM (without using WinSCP)

These instructions are intended for running the SHAZAM program in the Department of
Economics’ computer lab or any personal computer.

Step 1: Setting up a SHAZAM data file

e Save data to the C-drive (c:\) using a text file
e Note: data should not include any variable headings (refer to “SHAZAM using
WIinSCP for details)
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Step 2: Open the SHAZAM program by double-clicking the SHAZAM icon
displayed on the desktop

Step 3: Select the “Editor” window and type all commands here

the editor window allows you to write and edit all your SHAZAM commands

e after each command hit the “Enter” key twice to indicate that a new command is
to follow

e after all commands have been added, select the “Run” button to execute the
command file
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save the “Editor” file for future use.



Example

You have been provided with a SHAZAMdata.txt file that holds the following data:

Year,

rgdp (real GDP),

ngdp (nominal GDP),

gdpd (GDP deflator),

pe (Personal expenditure Current prices (x 1,000,000)),
cpi (CP1(2002 =100)),

cpii ( CPI inflation)

int (Thill)

Let us run SHAZAM for the following regression:
rpe= a + (B*rgdp) + (y* rint) + (d*cpii)
where:

e rpe =(pe/gdpd)

e rint=(int-cpii)

Step 1: Follow steps 1 through 3 of the instructions above

Step 2: Command SHAZAM to read your SHAZAMdata.txt data file by typing:
o “read (c:\SHAZAMdata.txt) year rgdp ngdp gdpd pe cpi cpii int”
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read (c:%SHAZANdata.txt) yvear rgdp ngdp gdpd pe cpi cpii int

Step 3: Command SHAZAM to generate variables rpe and rint by typing:
o “genr rpe=(pe/gdpd)” and “genr rint=(int-cpii)” respectively.
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read (c:\SHAZAMdata.txt)year rgdp ngdp gdpd pe cpi cpii int

genr rpe=(pe/gdpd)

genr rint= tlnt—cpli)l

Step 4: Command SHAZAM to run the regression by typing:
o “ols rpe rgdp rint cpii” followed by the “stop” command to indicate the
completion of your session.
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read (c:h\SHAZAMdata.txt)year rgdp ngdp gdpd pe cpi cpii int

genr rpe= (pe/ogdpd)

genr rint=(int-cpii)

0ls rpe rgdp rint cpii

stop




Step 5: Select the “Run” button to execute your commands. You will find the
resulting output in the “SHAZAM” window.
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fr=reer={c: | SHAZANdata. txt) year rodp ngdp gdpd pe cpi cpii int
UNIT 88 IS NOV ASSIGNED TO: c:\SHAZANdate.ixt

...SAMPLE RANGE IS NOU SET TO: 1 121
|_genr rpe= (pe/gdpd)
|_genr rint=(int-cpii)

|_ols rpe rgdp rint cpii

REQUIRED MEMORY IS PAR= 186 CURRENT PAR= 11000
OLS ESTIMATION
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.. .NOTE..SANPLE RANGE SET TO: 1, iz1
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MEAN OF DEPENDENT VARIAELE = 0.5307SE+08
LOG OF THE LIEELIHOOD FUNCTION = -1250.54

MODEL SELECTION TESTS - SEE JUDGE ET AL. (1985,P.242)

AEALIEE (1969) FINAL PREDICTION ERROR - FPE = 0.11568E+09
(FPE IS ALSO FWNOWN A% AMEMIYA PREDICTION CRITERION - PC)
AEALIEE (1973) INFORMATION CRITERION - LOG AIC = 18.566
SCHUARZ (1978) CRITERION - LOG 3C = 18.659
MODEL SELECTION TESTS - SEE RAMAWNATHAN (1998,P.185)
CRAVEN-WAHEL (1979)
GENERALIZED CROSS VALIDATION - GCV = 0.11578E+0S
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Step 6: Don’t forget to save your work!



